HW 5.4 Key

1. Let X'and Y be continuous random variables with Joint probability density function given by f (x, y) =kx? y

for 0Sx<5 and 0<y<8.Find Var[X].
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2. Let X and Y be continuous random variables with joint probability density function given by
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3. Assume that X and Y are independent continuous random variables. Suppose that X in uniformly distributed on the

interval [1, 5] and Y is uniformly distributed on the interval [1,13] .Find E [(x + y) _2] .
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4. Assume that X, ¥, and Z are pairwise independent. In othervii®a, each of the three random variables is independent

with cach of the other two. Given that E[XY]|=532, E[XZ]=266,and E[YZ]=392,find E[Z].
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5. LetXand Ybe contmuous random variables with joint probability density function given by

f( ,y) — 2—03(xy+ 14x+cy+d) Assuming that X and Y are independent, find d.
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